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Serie 5

2/9 min: 4 = min
4/6m-e+1/2m = m?
4/5g+1/5¢g = g
2/3 von 1/2 h = h
3/5kg—12kg = kg
3+2/6h = h
1/2 kg + 3/5 kg = kg
4/5g-1/5¢ = g
3/4 von1/2d = d
1/3min:3/4 min =

2/3von 1/4 min = min
1/5cm: 4 = cm
2/[3m=+1/3m = m?
2/5t-1/10t = t
12t+2/5t = t
2/3h:1/4h =

1/3 min « 12 = min
12m+1/5m = m
3/4 von 1/4d = d
9/10cm +3/5¢cm = cm
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Serie 5 (Losungen)

2/9 min: 4 = 1/18 min
4/6 me+1/2m = 1/3 m?
4/5g+1/5¢ = 19
2/3von 1/2 h = 1/3 h
3l6kg—12kg = 1/10kg
3+2/6h = 1h
1/2kg+3/5kg = 11/10kg
4/5g-1/5¢ = 3/5¢
3/4von1/2d = 3/8d
1/3min: 3/4 min = 4/9
2/3von1/4min = 1/6 min
1/5¢cm: 4 = 1/20cm
2/3m-+1/3m = 2/9 m?
2/5t-1/10t = 310t
1/2t+2/5t = 9/10 t
2/3h:1/4h = 22/3
1/3 min « 12 = 4 min
12m+1/5m = 7M10m
3/4von1/4d = 3/16d

9/10cm+3/5cm = 11/2cm
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